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Instructions for Candidates : Sitesret ®Er gerfest
1.  This exam is in two parts. 1 feg utherr & g f¥9 3

2. Part - I is related to Mental Ability Test which
consists of 90 questions.

> 0 ErarufesT wsfra GarsT &% A4%u3 3, fAR
<9 90 yws 51

3. Part - II relates to ScholasticsAptitude Test which - ’ -
3, - E1 IT9f<T fefmr & GaeT 575 s fars

consists of 90 questions relating to three subjects

listed below : waHTe 95 fefimit € 90 yis T5:
) Science (1) wfen
: ()  Mathematics (2) dfe3
3 (i) Social Studies (3) A fifsr
4. Each question cagries one mark. All questions are 4. @I YRS 31 7 yrs 7t 5
compulsory. -F '
5. You have been provided with an answer sheet 5. 3U'§ fern yws 39 ®et fexr Q39 Hie fost
. (OMR) for this question paper. Darken the correct aret §1 €39 Hie (€ i »m) féw gea yws €
> option of each question in the answer sheet (OMR) ’ At QST § I B/AB TE Us sH IS TG |
* with black/blue ball pen. 6. &ar & fiSt ot uEt g 3 ST AT AaeT T

6. Rough work may be done on the blank space a . a
g Y P 7. fen yiftrrr fég foeara (Bdife=) wraforar at 31

provided for this purpose. :
7.  There is no negative marking in the test 8. €anara. (839 Fte) QuT Tl sfelT &
8. Do not use white fluid on OMR (Answer Sheet). =33 BT ISt AT
‘ 9. Half an hour extra should be given to disabled ¢  fagmiar fefommaghnt & HT uie € AHT =211
: candidates only. f&gr qgraar )
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MENTAL ABILITY W& GarsT

Directions : (Questions 1-10) There is a number/ f53@H : (Y& 1-10) 3o fot yust few nlatmivet &
Letter series following a pattern. One place is left fea st féat aret 3 fegt st fare féa mars Wt
blank in the series. Find out the correct answer from &feor fapr & 1 fer idu § fonrs fes Sy st G yor

the options. q95 wEt fod are @get fed rat Qe Et ST aqd |
1. 3,6,18,72, e 1. 3,6,18,72, e
(1) 380 2 360 1 38 2 360
3 2% 4 420 3 29 @ 420
2. 3,4,8,17, 58,94 2. 3,4,8,17, s 58,94
O 27 2 40 o 27 @ 40
3 25 @ 33 3 25 @ 33
3. 14,19,116,125,136, ............ 3. 14,19,116, 125,136, ............
(1 149 2 181 1) 149 2 181
(3 1% 4 284 3 19 @ 284
4. 4,20,6,42,8,72,10, ........... : 4. 4,20,6,42,8,72,10, ...
@ 90 (2 130 @ % @ 130
3 120 (4) 4 110 3 120 @ 110
5. 5,28,17,126,........ 344 5170 528,17 126, .......... 344
(1 101 @ 26 , 1 101 2 26
3 37 @ 145 3 37 @ 145
6.  23,29,31,37,41,43, ...ccouuu... 6.  23,29,31,37,41,43, ...
@O 45 @ 47 QO 45 @ 4
3 49 @ 51 3 49 @ 5l
7. 3,9,21,45,93,.......... 7. 3,9,21,45,93, .........
(1 180 @ 189 1 180 2 189
3 19 @ 193 3) 19 @ 193
8.  2,9,28,65,126, ... : 8. 2,9,28,65,126, ...
1 220 2 22 1 220 2 226
(3) 217 @ 247 3 27 . @ 247
9. 840,168,42,14,7, .......... 9.  840,168,42,14,7, ........
n 4 @ 7 (n 4 @ 7
@ 6 @ 3 3 6 @ 3
10. KMS5, P8, GS11,EVi4, .......... , 10. KMSs,IP8, GS11,EV14, ...
(1) BX17 2 CY17 () BX17 2 CY17
(3) BY17 4 CX17 (3) BY17 4 CX17
1
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Directions : (Questions 11-15) Find the wrong/odd fagewm : (yus 11-15) 3o+ f53 yHat feg as3/

number or item from the given series :

11.

12.

13.

14.

15.

Directions : (Questions 16-19) According to the
specific Pattern fill in the blank spaces of Number/
Letter Series in the following questions.

16.

17.

18.

19. -

2,5,11,24,27,47,95

n 24 @

3 9% @

13,15,19,23,29,31

O 31 @)

@ 13 @

M14,P17,D5, W25, G8

(n P17 )

3 D5 @

EG, PR, FH, MN, DF

() PR @

(® MN @
. 53,59,61,69,71,79

1Hn 53 @

B 6 @

a_c_abb_aabc

(1) bee )
3) ccc C))
10_1102_1 21

1 102 @
3) 112 4
kab_akk _bakka _akkabba
(1)  babbbk @)
?3) baabka 4
abb_baa_a_bab ab

(1) abba @
3) ccac @

11
47

23

15

w25

Mi4

FH

DF

61
79

cbc
bbb

210
201

baabkb
akbbab

abab
aabb

Y9t AT 7 yw g

11, 2,5,11,24,27,47,95
(1 24 @ 1
(3) 9 @ 47

12.  13,15,19,23,29,31

1 31 2 23

3) 13 @ 15
13.  M14,P17,D5, W25, G8

(1) P17 2 W25

3 Ds 4 Mi4
14. EG,PR,FH, MN, DF

() PR 2 FH

3 MN 4 DF
15. 53,59,61,69,71,79

1 53 Q) 6l

(3)m 269 @ 79

fsaew : (yus 16%19) 35 &3 ymat few vay
ﬁmmﬁfaﬁ'aas’hmmwmé'
Yyar 995 BEt ol @39 € 9T T |

16. a_c_abb_aabc

1) bee 2 cbc

3)  ccc (4) bbb
17.  10_1102_1 21

(1) 102 2 210

?3) 112 4 201
18. kab_akk _bakka _akkabba

(1)  babbbk (2)  baabkb

(3)  baabka (4)  akbbab
19. abb_baa_a_bab ab

(I)  abba (2) abab

3) ccac’ (4)  aabb

2
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20.

21.

22,

23.

24.

25.

26.

How many 2’s are there in the following number
sequence which are immediately preceded by 7 and
followed by 4?7

42727427724447227274427427272474

) @ 3

G 4 @ 5

How many 5’s are there in the following number

sequence which are immediately preceded by 4 and
followed by 6?

28745632457456134569 -

@m 3 @ 4

@ 1 @ 2

Which word from the following words is at third
place when arranged in dictionary order

) Shrub (2)  Shudder

?3) Shroud (4)  Shuttle

Which word from the following words is at second
place when arranged in dictionary order

(¢)) (2)
©)) @
Which of the following word can.not be formed
from the Letters of the word ‘CONSTRUCTION’
() SUCTION (2) COINS

?3) CAUTION (49) NOTION

Which of the following word can be formed from
the Letters of the word ‘ENVIRONMENT” .

(1) CONTINUE (2) ENTERTAIN
(3) EMINENT (4 ENTRANCE

There are 56 students in class 8th, Mohit is on 28th
place from the front side. On which place he is
from the back side

1 38
G) 29

Tennis
Terminal

Tendon

Tender

@ 28
@ 39

20.

21.

22.

23.

24.

25.

26.

3

@ 4

I fmit wt fég v 2 fAst g m@er I we
w3 ufgst g 7 3= WS T fegna 437
wgerg? o
42727427724447227274427427272474

n 2 @ 3

@ 5
ﬁsf&‘&ras‘tﬁvﬁwsﬁﬁ'wm@?&n@‘
OnF ufgs ¥ 4 3 @y ke #Ha 6
mwQerge?

28745632457456134~‘569

1 3 @ 4

3 1 @ 2
ﬁsfs&méﬂwﬁaqﬁ»waﬁ@éﬁ
Hnar mue faoagr m@er J1

(1)  Shrub (2)  Shudder

(3)  Shroud (4  Shuttle

Jo ot HuTT & AECAH gH MEAd a9 I eF
faaaT pee gr maS I wr@er 31

(D Tenclon (2)  Tennis

3) Tender (4)  Term:nal

it €3e g€ 7 63 aw “‘CONSTRUCTION’
wae 3 &dt sfemr| ‘
(1) SUCTION @)
(3) CAUTION (4
At €39 g& 7 &3 @ AEe ‘ENVIRONMENT”
F gfem 1 ‘

() CONTINVE (2) ENTERTAIN
(3) EMINENT. (4 ENTRANCE
et it fE9 & 56 fefommst 75| Hfag & |
At few wad i F 28% FEs J| fued v
3 fagd mas 3 T
(1 38

3) 29

COINS
NOTION

@ 28
@) 39
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27.  Inascience exibition Santokh Singh is on 15th place
from right side in the queue of 42 teachers. On which

place he is from left side,
m 27 2 28
3 29 @ 32

Directions : (Questions 28-31) Answer the follow-
ing question by reading the given Statements.

A and B are Horse rider, Gymnast and Football
player.

C and B are Horse rider, Boxer and Fobtball player.
C and D are Horse rider Boxer and Swimmer.

E and D are Swimmer, Gymnast and Football player.

28.  Whichone is Horse rider, Swimmer, Boxer, Gymnast

and Football player ?
M A @ B
3 cC @ D

29.  Which one is Horse rider, Swiramer, Boxer and
Football player but not a Gymnast?

M E @ B
@ C @4 D
30.  Which one is Harse rider, Gyranast and Football
player but neither a Swimmer nor a Boxer?
@M A @ B
® c @ D

31.  Which one is Swimmer, Gymnast and Football
player but not a Horse rider?

0)) A 2 C
3 D 49 E
32.  How many times digit ? is used when we write
counting numbers 1 to 100
@ 10 ) 11
A3) 20 4 21

4

27. fefarws yeawat féw 42 wimmer o g9
o9 i3y i vt 3 152 mers 3 3 iR

UR 3 Q9 faus mers 3 5
@ 27 2 28
B 29 @ 32

fsoem: (YHE 28-31) I5* St wreamt § miw & yrst
e Q3vfeg

A3 BUlE AR, fiae w3 $ous fusdt o |
C»3 B USRS, ang W §ouvs fusrdt oz |
C»3 D WSN=TT, aig W3 399 5 |
E3 D 39, favasme w3 $eas fugrt 95|
28. aswsméwmammzmm
fusTat g e
@O A 2 B
3 cC 4 D
29. & WEBAEW, 399, wANT WT S fustat
ug favaTHe 39t ?
M E 2 B
3) - cC 4 D
30" o€ USH=, fiva™e, M3 $eurs fust 3 ug
&It 3T I I &I TAHT T 7
@O A @ B
3 cC 4 D
31. d= 399, fmmmzwézawfuaﬁ%uaws
AT EATT?
n A @ C
3 D 4 E
32. 13100 39 fare3t foue AR 2 v fdat =g
wQer Ji
@ 10 @ 1
3 20 @ 21
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Directions : (Questions 33-37) Understand the given feoew :
figure and answer the following questions :

Players
/Q \1 77Doctors

8

Artists

(yus 33-37) 35 &3 fdge § forrs

muq&isfé@qu#%@’wfaeu

/§\ e

8.

Rectangle represents Artists, Circle represents play- »rfesmag,%aafusﬁnﬁgn@faﬁz‘mg

ers and Triangle represents doctors.

33.

34.

35.

36.

37.

38,

How many Players are neither Artists nor Doctors?  33.

1 25 2 22

G 4 @ 17

How many Artists are Players? 34,
@ 3 @ 8

G 2 @ 30

How many Artists are neither Players nor Doctors? 35

) 8 2) .25
3 22 4 30
How many Doctors are neither Players nor Artists? 3¢
1n 4 @ 8
3 3 4 1
How many Doctors are both Players and Artists?

. 37.
@M 4 2 25 :
G 3 @ 8

If ‘green’ is called ‘red’, ‘red’ is called ‘blue’, ‘blue’  3g.

is called ‘white’, ‘white’ is called ‘yellow’, ‘yel-
low’ is called ‘violet’ then what is the colour of

grass?
(1) Blue (2) Red
3) Yellow (49)  White

5

I QEtd|

&3 fusmdt &7 3t FBHTT I& M &7 It AT I ?
n 25 @ 22

3 4 @ 17

& arrarg fust 9 7

@ 3 @ 8

3 22 @ 30

fas awarg a7 3t HeT I& MI ST af fuzTat
I5? _

1y .8 @ 25

B 22 @ 30

f&& ITaed &7 I fuzTat 95 T &7 I a9
IS? '

1 4 @ 8

3 3 @ 17

&8 57929, fustdt M3 aEaIT € IS ?
1Hn 4 2) 25

3 3 4 8

2’ § e, i § ‘Farel’ fagr A< 3t W
T garatr g<ar?

(1 s N )]
(3) e 4

S
fger
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EERR

39.

40.

41.

In certain code language

125 =go to school

146 = study in school

135 =run to school

then what digit is used for ‘run’ ?
1 6 @ 3
3 2 @ 1

In a Certain Code Language ‘MADRAS’ is writ-
ten as ‘DAMSAR’. How can ‘MUMBALT is writ-

- ten in that code language?
(1)  BAIUMM (2) MUMIAB
() IABMUM 4  MUMBIA

In a certain code language ‘SPARK’ is written as

‘TQBSL’. How can ‘FLAME’ is written in that
code language?

() GMBNF
(3) GMCND

GNBNF
GMBMF

@
Q)

Directions : (Questions 42-44) Based upon Letter

code and digit code answer questions.
Letter Code T R E 0o I A D P Uuls
Digiigede |5 | 719 Ja | 3]0 |1 ]|2]s iﬁ

42.

43.

SPORTS:
(1) 824578 (2 842758
(3) 842578 @) 824758
ARREST:

(1) 770985 (2) 077589
(3) 077985 (4) 077859
DROPER:

1) 179742 2) 174297
(3) 172497 @) 714297

6

39.

40.

41.

fai vw 9w §5 f&w

125 = go to school

146 = study in school

135 =run to school

3T ‘run’ B fausT v <9fzur fapr 37
1 6 @ 3

3 2 @ 1

for a5 gmr f&9 ‘MADRAS’ § ‘DAMSAR’

' ﬁwfu»ﬁ#v%n@ﬁéawﬁ?‘MUMBAI’g;

fa=* fafirr ardqr ¢
(1) BAIUMM (2 MUMIAB
3 IABMUM 4  MUMBIA

far &= g f&9 “SPARK’ & “TQBSL’ fasfimi

AT 31 @R &3 9T f&9 FLAME' § fa2

fatumr 7raarr ?
(1) GMBNF (2 GNBNF
(3) GMCND (4) GMBMF

fagem: (UHS 42-44)%we IS WS AT dF S mara T

yasT 3 839 il
Letter Code T|IR]|] E]|o 1 A |Dp|p| uUls
Digit Gode 5 71 9 | 4 3 lo 1 216 i&
42. SPORTS:

) 824578 )] 842758

(€)) 842578 4) 824758
43. ARREST:

6} 770985 ) 077589

?3) 077985 4 077859
44. DROPER:

(1) 179742 3] 174297

3) @) 714297

172497
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45.

46.

In a certain code language ‘CHAT’ is written as
‘SUZBGIBD’, How can ‘APT’ is written in that
code language?

(1) SUOZQB )
3) SUOQBZ @

SUOBZQ
SUOQZB

Identify the diagram that represents the best rela-
tionship among Sportsman, Cricketer and Batsman

1) 2 3 4)

47.

Identify the diagram that represents the best
relationship among Earth, Sea and Sun

Q@ ©

48.

49.

If the day before yesterday was Thursday, what
will be the day after tomorrow?
(1)  Friday ()]
)] Monday @

A husband and wife have six married sons. How

Saturday
Tuesday

many members are in the family.
1 14 2 12
3) 10 @ 8

i Directions : Answer the Questions (50-51) based on
figure.

50.

S1.

How many squares are there in the given figure.

M 14 ) 12
3) 13 4 10
How many triangles are there in the figure
1 38 2 42
3 34 4 36

45.

46.

far &3 gmwr fe¥ ‘CHAT’ § ‘SUZBGIBD’
fafinr aer 31 €F &3 g &9 ‘APT § fa=
fofpnr Arar ?

(1) - SUOZQB (2) SUOBZQ

(3) SUOQBZ (4 SUOQZB

€n f¥39 & I a9 7 fuzrdtnr, fgaeat W3
§@aH v Aot fifu § ser@er 39|

) @ 3) “

47.

Ow fi3e & 9< a9 7 Uddl, ANEd W3 Hod
feu nat fiég & wew@er 39|

Q@ ©

48.

49.

#ae 93 ag T ufowT fes de=9 At 3t e
TF &5 3 e fagsr fes I2ar?

(1) Hag<d 2) WalEd

(3) /| AHET. (4) M@=

foa Ut S uzst @ & ford 3 U39 9516
ufgeg &9 d& fad HEg as |

@14 @ 12

3 10 4 8

fagan : fo3 o ffge &vmag I yEs (50-51) T €9

fe€

50.

51.

7

fe3 foge feu fad =TT os |

(1 14 Q@ 12

3 13 @ 10

fagq <9 fastt fggwat o5 |
ORI ' Q £

3) 34 G 36
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52. A watch shows 8: 30, if minute hand points to west  52.
then in which directions hour hand be points.

€)) South-East (2) North
(3)  North-West (4  South-East : 1 S
(3 €F-lan (4 Swe-yew

Directions : (Questions 53-58) Replace the ques- f&aem: (YA 53-58) f3 o feasyt fed* rat feasy
tion mark (?) with suitable number from alternatives Yu® i ( ?) @ Fe's I 37|

53. @9 53. 09
200 o»I<—:a % o1 2001 20
62

fea wat 3 8:30 & Mt 3, Aare firer =t met
fEg g2t
TYS-yay @ €39

1 48 Q2 6 » ®Hn 8 Q)
3 29 @ 30 ) B2 @ 30
54. 25 16 81 54. 25 16 81 '
1O CROIEOFON O}
36 1 25 36 1 >5
1 4 @ 39 1 48 @ 39
3 67 @4 54 , 3 67 @ 54
: 55,
55. - > : _
3 Pl ! 3 Pl 1
? Y ? Y
2 1 2 1
3 4 A p
nHn X @ P
" @ P 3 Y @ T
3 @ T
56.
56.
28 49 28 49
45 81 45 81
? 56 ? 56
1) 2 32 1 24 2 32
3 4 48 3) 40 4 48
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57. , '
8\ 7
20 16
4 12 4 12
1 24 2 32
€) @ B
58.

59.

61.

62.

- 63.

57.
8 7
20 16
4 12 4 12

NAADYARYaD

(1 24
3) 12

@ 3R
@ 48

AR

JOR

42

12
J Qy
0 2
G 30 (4) 30

IfA=+,B=+,D=xthen ﬁnd the value of
15C3B4A12D2

a1 25 2 18

G 17 @ 15

If + = -, - =+, + = x, x = + then find the value of
16 +-2-4+28x7

a1 32 2 23

3 28 4 36

If ‘K’ denotes ‘x’, ‘B’ denotes ‘=, ‘T’ denotes ‘-’
and ‘M’ denotes ‘+’ Then
40B8T6M3K4=7

a 19 2 1

) 31 @ 23

A cube of a side 8cm is cut into small cubes of side
2cm. How many small cubes of side 2cm can be
formed?

aly 4 2 16

3 48 @ o

A student got twice as many sums wrong as he got
right in a test. If he attempted 48 sums in all, how
many did he solve correctly?

1) 8 2 16

3 24 @ 32

9

NEACDANINE

61.

62.

63.

25
-30

n 25

3 30 (4)
A9 A=+, B=+,D=x J< 3" I fofmev s
y3T d9:

5C3B4A 12D 2
1 25 @ 18
(3). 17 @ 15

AT =-, =+, + = x, x =+ J& It & fafeprt &
H® 3T g4

16 = 24 +28 x 7
1 32 @ 23
3 28 @ 36

-

AT ‘K’ T HIBY °, ‘B’ T HIBY ‘+, T” &
W3®Y -’ M3 ‘M’ TTHIBY ‘+ I I
40B8T6M3K4=2

1 19 @ 1

3 31 @ 23

fex s A gAT TB WS § 2 AH FAT T8 B¢
wet f&g des 3 I35 &5 ws gsadr ?

1 4 @ 16

(3) 48 @ &

fea fefonmadt & fea 2we &9 ala a3 Fest
&% g9 AT'S dI%3 oid | Had GFs 9% 48
A% 9% a3 3= 3 8w & fad res sl 98
a3?

®Hn 8
3) 24

@ 16
@ 32
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5.

66.

67.

68.

69.

70.

If on 1st January 2001 was Monday, then what day ~ 64.
of the week was it on 31st December 20017

(1)  Monday (2)  Wednesday

(3  Sunday (4)  Friday

In certain code language if COVID = 53, SOCIAL  65.
=59 Then DISTANCE = ?

) 85 @ 75

3) 67 4 58

Harjit is going towards South. He turns left, then 66.
again turns left, in the end he turns right. Now in
which direction he is

(1)  North (2)  South

(€)] East 4)  West

Pardeep walks 17m toward West from his office. 67-
he turns left and walks 14m and then walks 27m
towards East. Then he turns left and walks 14m.

Now how much he is far from starting point.

() 12m (2) 8m

?3) 10m 4 " 15m

5 friends are sitting on a bench, A is to the left of B- 68
‘but on the right of C, D is to the right of B.but on

the left of E. Who are on extremes?

(1) AB 2) A,D

3 B,D @ CE

Pointing to a man, Rahu said ‘His son is my son’s  69.
uncle.” How is man related to Rahu.

(1)  Uncle () Father

3 Grand Father (4) Brother

Simran is Yuvraj’s sister. Yuvraj is son of Subhash.
Poonam is wife of Subhash. What relation has 70.
Poonam to Simran?

) Mother 2 Sister

3 Daughter (4)  Niece

10

Had 1 A&=AT 2001 § Fverg /t IF 31 ofmg

2001 § ge3 © fagar fes mt?
(1) AHE9 2 Huew
(3) W3TT 4) Hoaged

ﬁﬁ&awfé?ﬁaacovm=53,SOCIAL=
59 J 3 DISTANCE = ?

1 85 @ 75

3 67 4 58

AT due femr @& ui 7 faor §1 €0 4w
wﬁusfemr,ka@zrﬁﬁrwﬁrysﬁmr,ﬂe@v
HH U™ W fopuT | gavts g fam ferr iS5 57
O] Q) vz

(3) yw 4

(%

UsH

UTEN MuE T3 3 17 Hiea u'eH ¥ Sfomr
fea Qo gy S Y= & 14 vieg Sfonr fea §
27 Hieq yag <% Sfenr | feg O@Fd &8 umr &
HZ d 14 Hieq €t gdt 3w ott | g= Qo wrdfaw
fag 3 fast gt T3

@ 0 12»ted (2) 8Mlew

(3) | 10%eT 4) 15¥teT
sTHedfea ¥ 383 05 1A, BR U Ui 857 3|
UWCEAR YN JIID,BE AT UR TS ET 4T
U™H 857 3192y fasfont I de d= §ov 3 7
(1) AB 2 AD

3 B,D @ CE

fé nrenit S ferrar aee 32 avg & fawr, “Gner
U39 W9 U39 & %as 3180 wrewt e ag &
at famar 31

(1  HEs 2 fuzr

(3 wer 4) I

f9E g=aw & 8< J1 g=oH, FIH T U39
J1 Y&, B € ugst §1 yaw, fives <t ot
Haret 31

(1) H3T @ 3=

3) ot 4) I
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Directions : (Questions 71-74) Each of the following
questions complete the missing portion of figure (x) according TUI Il

“to the given Pattern by selecting from the given alternatives. feasy & 5 a9

7L

72.

0
U;

f

tH

Y
N

\<

S

? N
*) (1) @ 6&.__@
74,
A=
) m @ 6 @

Directions : (Questions 75-77) Which figure will come

at question mark (?)

71.

[d

fagem : yHs (71-74) 35+ &3 g (0 @
% &3 sy&d WoAg 95 BEL P

1)

@ 0

)

N2 NP
L® M @ 6 @
) - Mm@ & @

faaew : yus (75-77) yus s (7) € ras 3 fagar

75.
o O O O O
o | o |2 | °
o O
@ ®) © @
o o o0 o
° o o o |
o o ol©° (o)
o) > o ®

fgggmar
75.
o O O O O
o | o |27 | °
o O
- (a) (b) (©) (d
o o ol0 o
® ® o °
(0 o ol©° O
11 1 2 3) 4
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76 D [ﬂ E[D ?
@  ® © @
[ [
of H]]] [Ih
(1) ) (3) “)
77.
= | & =N
(@ (b) (© (d)
S EE
@ - 2 (3) @

76

77.

g ||l 2
(@) (b) () d
dﬂj 4 (| m
¢)) 2 €)) “)
= |||
(@) (b) (c) d
¢y L@ 3) C))

Directions : Find the mirror Image of figure (X) in f53S% : yu& (78-79) & fige (X) M f¥w y= 3
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Questions (78-79) fag fragr &3rer ?

78. 78.

®) 6] 2 3) (C)) ®) ¢)) Q) (3) @)
79. 79.

AT [ o e I s e [
(09] o @ 3 @ ®) (OENE) 3 @
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" Directions : Questions (80-81) Each of the following f&3e® : yH& (80-81) Jot f&3 T3 yHs BEL:
quesﬁons: | f§39 (X) ¥ yrat @ sl ySifyy <t &3 feasut
choose the correct water image of figure (X) from f&9* 9= «3:
given altermatives. :

- :
= 4
A
e, 111%
9y, 11 @ 9,
| |+ | | + <L

>

+

m @ 06 4)

. “\“l :
&

“‘\\“
’
%‘\\\“
SWY
>
L
¢,
+
\\\“l
|
‘\\‘“
o

m\““ | |+ i |+ "‘"m [+ "‘llm
1 2) (3) 4)

Directions : Questions (82-84) Each of the following A (82-84) Iot 53 ya o ST AL

question constitute A, B, C and D_as Problem figure CHED mru g aamI 1.2, 33 4839 ﬁ’?;
. . <~ =

while (1), (2), (3) and (4) cons:tltute answer figure, LA f4a5 A w3 B f¥T avt i a,’ &R Igrer i

There is a definite relationship between figures A fgg Cw3 D f¥g rarh P P U -

and B, Establish a similar relationship between =31
figures C and D by choosing suitable answer figure.

82. 82.
Question Figure : ‘ yws S99

n
(a) (b) (a) (b) © @
Answer Figure CECACEC]
1) Q) (3) 4) ¢)) 2 ‘(3) )

13
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83.
Question Figure

D

?]

@JE-—)@!

(a) (c) )
Answer Figure
N\
S [Sloq =
(1) @ O )
84.
Question

(@ (b) © d)
Answer
| | |
I U
- | ,
1) 7)) 3\ @

83.

84.

EXEK,

Directions : (Questions 85-86) In following questions fxgom: YHS (85%86) I5t yust féT wet &t fareat

Count number of cubes

85.
A
7 ;//4 8
_ _ g
a 25 @ 30
G 29 @ 32
86.
2
%
> 2
Z 3
¢
@ 15 @ 16
3 1 @ 14

aql

85.

86.

14

@ (& (©
CECACED
&[Sl =
(OO 3) @
Question
@ ® © @
Answer Figure
I Wl[ l l(l J[
[ LT [
(1) () 3 @
-
% 1
ok &
7 %
e
1 25 2 30
3 29 4 32
%
7/".,’*
%%"
1 15 < @ 16
3 12 @ 14
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Directions : QuesHo-(§- 0] Ehiree figures marked 539" : yEsS 851907 s i 1 M »gAT
AL YT have ope fold at ), 2nd fold at Tland s cut in fea =dt 939 1 wzHg w3 gHt, Tt f¥9e 1

figure III from amongst the four alternatlges show- W‘? kl";f"' gq 111 MEW few §
ing the unfolded position of figure III N o favir 31 &2 58 RsTE” ime & e
o RE fé-aanrﬂfaw-sq*afmml
P hk'} --F‘F‘T =Y T v odotd"f
_— T.T"\% . 'Fi?? P——— - .
Q) m @ e

Tho (10 (4)

rouos 9oET e

fe ; 33‘8\"0% vd bezotash od jonngs nonorrd {Z
[ ikt o
_________ H HE i m pomomoemem "FT'{ﬁrﬁgf:
= M ~ _hes s Leseeesnfee ' *
e Tﬁ: : ' ocsr] - (© .no;mmgmé{i nsfigrope i | o:*;‘?m (€
Iy N e s -~ (S' , . E : N
I 5% o5 EFTp i EIEE i 3§§1 L nprtorft ot nigdi es airom;. 11 g mh;é (R

uuhsﬂr}sraasswa@ﬁnassﬂ%ﬁsﬁ ) ) [ 'g]_) 1
. V' Zaillg){pe WLV 1inlnn

"Toool~°
L8 | o

15
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91.

92.

93.

94.

95.

96.

97.

SCHOLASTIC APTITUDE

What is force acting per unit area is called?

(1)  Energy (2)  Pressure

?3) Work 4) Power

Which is the simple device used to start or stop

electric current in an electric circuit

0)) Bulb (2) Fan

()  Switch @  Cel

Which of the following statement is false.

€)) Friction cannot be increased by making a
surface rough.

2) Friction cannot be decresed by applying
lubricant.

3) Rolling friction is more than sliding friction.

4 Sliding friction is less than static friction.

Whatis the splitting of colours in seven colours is cailed?

(1) Reflection of light

2 Refraction of light

(3)  Dispersion of light

(4)  Total internal reflection of light

Persons with low vision can read many languages

by using which system?

€)) Louissystem (2)  Braille system

3) Kaler system  (4)  Laser system

The force exerted by a charged body on another

charged or uncharged body is called:

1) Force of friction

) Gravitational force

3) Magnetic force

“ Electrostatic force

Number of vibrations per second are known as:

€)) Frequency of vibrations

(2)  Amplitude of vibrations

A3 Time period of vibrations

4 Wavelength of vibrations

16

91.

92.

93.

94.

95.

96.

97.

fefpnt &t Garar
feret dgaem 3 faforr 79 o w5 § ot afoe
IS ?
(1)  Gewr @)

3) qrad 4)

gy
HaSt

f%afanm’rnaazf‘evfanm’rwémw
Wmmmrwwmmﬁw
faggrJ?

(1) a»% (2 vur

@) nwféy @ ®®

35 fafimt (&9 fagsr aus asz 37

1) mwgwmm@'ﬁw
Aget I

(2) HAY FINY TOF WeTet AT AEEt I
(3) BT 91T AOASHS TaTg I ¥ et I
(4)  FIISHIS SIS Afaf3d 3913 &8 e It 1
yam € §3 ar féu fauge § ot afie oo 7
@) o YIH T YIS

(2) | Ya™ T Mu=TIE

3)., £ ygHET 95 fevus

(3)" ) yam e HYds Hegat yareeds

mmwmmmamm
et IEET § UF AaQ 957

() gEtimst (2 995 Yust
@) aFBsUTR (4) Ba9 lust
féar grafas g evrer fait g+t wafas AF
mmammrwa’rw%a?
(1) =TS @ FFgSHEE
() yudt g (4) nfeq farset o5

tafoeas?
(1) 355 et nrfedt

() 35 T HTH

3) 3IB& T ATIIAS
4) 3B dF Iaar et
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98.

99.

100.

101.

102.

103.

104.

Which of the following statements is false: 98.
(1)  Lighttravels in straight line
) Obaque objects do not allow light to pass
through them
3 When an abaque object comes in the path
of light its shadow is formed
(4  Mirrors can not reflect light

On which day of year the sun rises exactly from 99.
Cast. -

(1)  21*June (2) 237 March
€)) 21 September (4) 23" September 100,
Which of the following is most responsible for Global
warming?
(1 co @ CO,
3 SO, 4 HO

101.
Frequency used in Ultrasound device is........
€)) Less than 20Hz
(2)  Less than 20,000Hz
3 More than 20,000Hz
4 20 Hz to 20,000Hz
What is the name of instrument used to“measure 102.
distance travelled by a vehicles
1 Voltmeter (2)  Speedometer
?3) Odometer ‘(4) Electometer
Which device is used to protect buildings from 103.
lightning?
) Seismometer
?2) Lightning conductor
3) Fuse
“) Electroscope
Which substance is used to reduce the acidity in 104.
stomach?
1 Co, (2> HNO,
3) HS0, 4 Mg (OH),

17

= fefiput £ fagsT aus IBI 37

(1) YaH Aes ur &9 98er J|

@) wugesHt IHgwt wuE IS uTw §
S &9t faeht

@)  wyaw & InT fEu Tet nuraeaHt TRG
wr \ret I 3 g gt I

(4) TIUE YIH T UTTEIIS &4t AT HEE |

75 & fa fo paw otar Yo feur 55 fsamer 37

(1 2185 (2) 23 W99

(3) 21A39 (4) 23A39T

I fefunt i35 faosT a8es S9fiar Set Ag 3°
Sufiead?

1 co @ Co,
(3) SO, 4 HO
. %_ré‘r%? .
(1) 20HzS U
(2). 720,000Hz 3 ufe
(3) | 20,000Hz =T
@) - 30.Hz T 20,000Hz I

ﬁﬁ.mw%ﬁaﬁgﬁ?m
TF IS A AfIe 357

(1) IWaites () withites
3) Sdites @) feSacdieT
39 dfamr Aer 9 ?

(1) FIBEUI

2 wamw faaset I8d

@) fe€w

4) foazteedt

Uz fzu8 Iaius & 9 995 et ot <afanr
Aer J? '

(1) Co, (2) HNO,

(3 HS0, (4 Mg (OH),
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105.  The smalfestEumibof EneldnEatiotmamdr iss -« 105. fei weom & B e 3 B et & 7s¢
() : Compouds! iR Klon/ (1) G dusne o AB) e TfES
3 Mﬁﬁe’aﬂe"‘ﬁ"‘c“ﬁ‘ (ﬁ}’b’"b’Amin wei Bt WMEs 1o b 209d) SupHTE
mm 1 {L 1010:11
106 Wthh ofthe followmg is not the natural mdlcator? 106. ﬁ?f&ﬁwﬁ?mmﬁf%ﬁa?ﬁﬂ'ﬁ‘?
g ":33 ERL ;"R"BU‘C-“F 1} Bt 2B 01 200 199140 sUupsas g8 a5 s
TR £ G fomm w @ DOITOT 20 wobseiz 211 idg o
@ Turmenc @ W e VI
5 BB BUES . SO ID9IT9Y 1O 0T 10T M (b
(3) Phe ol hthalel% . 3) dle=wsls
BBY i 'FFERTE?T R 9O o ’X*" S2i1 sl auy Yo ovsh o 9 Y
(4) Chmarose "L RS L o e <f a
L e TEIC (1

107. Government gave t the message-to {celebrate green 107.
D1wa11 Because the following non-metals present

i RS O COREThE L da oG O @num

while burning of fire crakers.' U 5™SHH IS

(1) Iodine a;idSulphur O3 {H
(2)  ‘Sulphurahd Phosphorous02 (€}

! Bt Fhempligtoussad Ghloriag wrpsms

(4)  Chlorine and Iodine ST o

108. Nylonis useful because ?fz)?:owﬁg propertles

(1)  Soft, Strong Ak “ﬂhght“"' L00
(2)  Transparent, ihghf anc’f) easy to wasﬁ
()  Strong Sladid ight =1 OS
S () TeoHERE; deap, stfoig s ATTS Al S0
{JL 5U1B 6 S 5EW &5
109. Acids are made when:
FSTHENRSR {&; - BsfussEs .
(l) ___Metals react with oxygen _
EEh =S BSHED @)
(2) " Non metal oxides dissolve in water
SEEEF Ms FedlPWith wamy & Eb s £0
< f T -
)] Base dissolve in water
FER®BE (1)
110. - Components ofaghipgsodp ity .
¢)) Sodium, Carbon, Oxygg)gg—% (1
) Potassium, hydrog&ggo% ()
(3) Copper, Sulphur, Oxygen
TWETEE T Samandhs UR X0
D" Sodie Cons -
4 um, Cépper, botas s1um -
1. We can peasurq the temperaturg;jn doctpr’s
thermponagter frop; C2H (5
(1) 35°Ct042°C (2) 98°C to 108°C
(3 35Ft042°F (4)  35°F to 108°F

RIS ENLae TS

inrdol: F ot sldiznoazer icorr - gritaolior mﬁﬁﬁgf
(1) et 3 mweg ““m
) _/Hmémaaw
3) ‘emeangm
@ s UG e i
108. fovafafuz femarer mwﬂﬁ@uﬁaﬂ%
y s
2
&) : |
ﬂur,_@) o Dﬁ'ﬁ'ér ﬁ”g,; Hﬁﬂ? O
109 "wafaﬁmw AT e o IR
(2) W@mwﬁmwaﬁl
B g@rwﬁmfarfa»rraagﬁwra%
@ wIrRfusdas) J N
110. RS AST & Wed T vciis ¢ s
(1) FEh, I9Es, waHES:
) U, TrEFeS, AN o
ST mbuh ,daw? m m nig dondW L
. 4 Hz‘lmr g, TeHPm

111. m@é@mﬁ#mﬂmmgwm

TEHO) gM (& Ve v (£
(1) 35°Cto 42°C  (2) 98°C to 108°C
(3) 35Ft1042F (4  35°F to 108°F

3.}
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12 Wibichmeshne eyl Euladieiat oo

(1) Aumnum () °PidEmH S

(¢) SFum (O  (4) FFEHomiut)
113, AciHBRdsE in vdvipe BRGHZPES! (D)
ot 1% wesiremikt ey vETHiINeHR el

FEB(3)...... Ascorpid aad ToA45 ¥ FaraRcser
160
114. Clée%lcg fgrmule of Sulphuros acidis:
H,SO, ) ... HSO0, W
ﬁf;rgﬁs tS) (€
' (3) H,SO, @ HSO,
.......... Esmmwmwm RN
115. Wrinkle free cloth is obtained fmgb “orsE
M g%‘“’% BHEB (1)
) 1P%o&yeste{p) FHER (€)
(3)  Rayon ~ B
@ Gl'eﬂ ......... TEBW‘?SGW’?W 2= RN
BSILE (D) w6 ()

The jgpias of bydrozen whighugspequal pymber
- of proton, neutron and electron is :

) -

mnbMM@%aﬁmﬁmm@z
(1) hiEtr  (@peinayerdied o
(3) eogd (C)  eouyoma@dim (1)

. i S ookl (5
113, TRl o (b o YOG )
d bolpgyod fAefaar-Brmeloidg)m odmfearary .£S1

3) e Jume AR Y

ayloslusl  (5) oitsyisAnd I)
114. wefe€an 3w € Jnrfefed H3T %

1) sl‘bu}gﬁ\é 0, +) zguwhxg 0,

o1 bogmdh vi. (Hug())bﬂs rrisge () nm}{.;smpi al

...... 1ot
g yag ueT fam FESer Il
2910q2 < (1
¢))

(<) 915ms0
@ ??*?T ()

3) L ei awtiv vd boeuso gesseid .28l
s1slodD H

(4) Dol (©)
A-eititsgoH (€).

srslsM +)
116. e € mAEsd few Yoo,

sisls Qe & feBag e Eiier somag J1V/  OC!

115.

3§El‘ EI VAN

RN 3ﬁ5‘"“§1’ﬂ<ﬁ5‘u E@EﬁEﬁn«m NS (1) H @ H Cutieisg
3) IH BN Ff&ﬁ‘iﬁ%ﬁw {0 @)/ H oliupeorm zabdqri&{x fijrmﬂ (H
s 9 ) N
117.  Which cell of human blood can change thelr shape? 117. W&t g © fags is *A"‘ﬁé#ﬂf‘%?‘l‘ TE AT
(BTBR) BORBN 1\ (£) L fodools ()
(1)  Redbloodcell (2) E\ggte blogd cell Jea
() - 1 F gary
3)  Platelets 4) Plasma ()~ ®EIIIE (i) <
8. Whi ‘h‘h“;‘o'ﬁ T‘;ffd.ﬁ .......... 1231 Wgﬁifrb:;ﬂ ANN | ® foilstiqessl vd bgogjboxq 2l v Ay
. ch hormone deficiency causes Goitre
fp 0) 0 118. ﬁmaaarha%awa’rg){rw 13”
(1)  Adrenal (2) us © (1 A3 HTEMA
3(‘[3 s
(3) Iodine (4) 1(? xine 3) wfeGsts % a’%m‘l‘ﬂ%
'FE@ & . +
119, Which is not 119. fegst &9 fagar* u%‘%’xgrgﬁ?
chisno apresg-\g@vp O+.00 (» ygions +0 + *)
. Salt Fﬁ @ Su ugar | d(1) SHT ) éﬁ?;’r
‘Hféik'i" {BBR) G BP .88I ilo ai spepgedgrowobl d1o odT 881
O Ropleice (i, cesar e ?ﬁ’. ....... o wir
120. Which hormxmsfisiprogussSiBwomen! furing 120. e e '= nonsxﬂ nsgumﬁ féﬁ
puberty? et FEW (D) i f‘en‘sﬁ?? @ oitegill = (0)
1) I,nsulmA bRt ﬁgogen( £) 3 3 - 3 n(( 1?“3[%%
(3  Testosterone iy H%Wtqcm(f*} eieatimezotodd | (M)
12 cortli 121. faud = &g iregst foigs ger 37
- Intgmal 23RS
(1) 'Frog G‘?’T@m E?Y .egt ajdf)Iq i} ggw"ﬁo nomubrﬁf)) o d%"&gﬂ‘ RSN
_§tarﬁsh ‘ @) gea-horse 3) msolfd et 4) m%‘xﬂ'd‘é}
THB BR (d) (&) erisd 10051 d) 8I8rII01e ©)
128
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122.

- 123,

124.

125.

126.

127.

128.

129.

Which one of the following is the unit of hereditary
in living organisms?

€)) Chromosomes (2)
3) Nucleous . OF

Genes

Ribosome

Name the cell in which nucleus is not bounded by
nuclear membrane.

1) Eukaryatic
3

(2)  Nucleolus
@

In fertilisation the sperm and ovum are fused to

Prokaryatic Vacuole

€)) Gamete (2)  Spores
() Zygote (4) Egg
Disease caused by virus is ...............
¢))] Cholera (2)  Typhoid
3) Hepatitis-A (49  Malaria

Which one of the following is vector of malaria
parasite?

1) Female Anopheles mosqito
) Streptomycin

3) Alcohol

4 Yeast

............. is produced by Respiration
CO, +0,

| O, + energy

3) CO, + energy

“) Co, + O,+ energy

The process of breakdown of glucose in Alcohol is
known as .............

)
(3] Digestion

Nitrogen Fixation

3 Fermentation
(4)  Photosynthesis

........... helps in conduction of water in plants.
(€)) Xylem (2)  Phloem
3) Stomata (4)  Roothairs

20

122, asfsfuwfe?has‘tn?ﬁ?kvmhaw
e"rfsa're’ra?
(1) JIF9 2 #is
(3) fsQumi@em (4) atEAM
123. H& fran &9 et 37t feafig d'eva aat Jor
< Jo9a f¥Et st TS GRS ... afoe
TS|
O gEdSfea (o) faQamigER
()  yddtSfea (4)  IFeTst
124. foHes AV BaaE w3 e Gfag Ta ...
98T 5|
(1)  Gaa @ dae
(3) Ganw 4) ST
125. REg s ITTBT I ............ 3
1 Jar (2 3ufew
() JeEtem - 4) WRdar
126. WBdHT B QT T& Gewrev e . 3
(1)) W= WS Heg
(2) WeIuSHTEhits
(3) T VA= 0E (Hamy)
@ Wiy
127. Ao fafenfés.............. Jergera?
1) CO, +0,
2 O,+gawr
(3) CO,+ gamr
(4)  Co,+ 0O+ €amr
128. &3 € WBATH (FIY) f¥U geve o faforr &
........... e I5|
1) E@ﬁm?ﬂfﬂiﬂm
2 ugs fafeur
(3)  wiles fafemr

129.

Ufent fé9 urst erufgefos. ... oTaIT geT I
(1)  AEsy 2 THfew
3) HeHer 4) A
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130.

131.

132.

133.

134.

135.

136.

Absorption of water in human body takes place 130.
111 SUSOUUR
(1)  Stomach (2)  Foodpipe
A3) Small Intestive (4)  Large Intestine

131.
(2+3+4+5)x 107:
(1)  Divisibleby 13 only
(2  Divisibleby 19 only
(3) Divisibleby7
4 Prime numbers
If 15 workers can build a wall in 48 hours, how 132.
many workers will be required to do the same work
-in 30 hours?
1n 12 2 24
3 9% @ 54
Given pie chart shows the probability of winning of 133
three students Raman, Kamal and Monu. Find the '
probability of winning of Raman?
() 240 2) 518
3) 23 @ 120%

Anil bought something in Rs. 784 including 12% 5,
tax. What is price before tax was added?
(1)  Rs.500 2) Rs.700
(3)  Rs.600 (4  Rs.800
How many natural numbers lie between 9* and 10?2 135.
(D) 17 2 18
3 19 @ 20
There are 40 children in a group. Survey shows
that 25% children like to play football among them. ~ 136-
How many of them do not like to play football?
) 10 2 20
(3) 30 @ 35
21

RO,

urat e Ry iy gu & faw iar gmmer geT d |

(1) frger () WS =W
3) E&rwies 4) <EStores
(2+3+4+5) x 107 :

(1) fAT 13 3 FAGr

2 frag o 3 FAGT

3) 73 IHAA

(4) g fiferr

& 15 Hage fég St § 48 Ufent few g2
Aae 35, ?Qﬁwgsourfewfeawm

wet &3 wagar S 8= 37
1n 12 2 24
(3) 96 4) 54

f&gr faprr yrdt  wvae 35 fefommadnt avs,
aHE W3 g @ firge &t frevesT § wanr faor
Me T g S fgresT 3T /9 ?

- 5/18
120%

@
@

(1) 240
(3) 23

wfsws & foa =ng 784 gu &t ydtet fam f€e 12%
frer qg w31 a9 3 fast aRg e HB U AT |
(1)  FuE500 ) FUET700

() IuE600 4 U800

92 wF 10* @ fegars fastmt yigfaa Afumret
7

@ 18

@) 19 @ 20

40 Hfgmt & AeRYE I y3T Har fa 25% §9
émmmmmlénﬁwﬁvm
uwuﬁv&ﬂ‘aa'erl
1) 10
3) 30

@ 20
@ 35
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'153755 TR FOY VeTtices ahDedpct it Tuboidarde L opeln, e mmmmw@nfa@ m“-a%
(=66 0 (2) 78 (D I5?

A iqbofP  (O) (e 68
e B2 1 iR (g Goiq
ijagf,'f)l 33‘16 12 (») 51(*,»;4{?? ”p 8’12 ({
138.  Find the probability of getting a FPI’BQ‘%SHe)nWPPfr 138. f8 T & few 3 E'T

on throwing a dice? O x (B4ps7 0
T £ (D foeaT ugT a9 | |
6] 1/6 (2) 1) 16 e i vdRy'izivif h
3) 2/3 TR ﬁ)Q °“i;b < Q) 23 el ddy'ieivigh .
139. If the price of an article W 1fRreased by(80% then |, g fea g 26k S 20k werfionT
decreased by 20%, theadhpw-much ingrpase/de- A2 3 3% % T e ERET| ()

crease percentage will be there?

5B Fﬁ) I&o 3 ange F';E-/( Fh{:rgls ége I wod aiﬁui 8h mm(mbggwﬁ%%l L&l

% ecx% I@/-f; FEc‘}ease A1ow o83 oy obroMISATupsT o 11 €4) 51108 MG

140. How many lmes of symmetry does an equilateral 140. ?)Efﬂ. g ? Rt W"&H‘Qf'%{ﬁ@' férst
tnangleﬁ‘?ave? ¥ (N EE’TUI AN © N | )
n = ®» @ & (¥ n ' ® @ ¥ (©®

@3 3 . @ o 5 . 3. . . ;
BB 1 fg It wed fgms 3 1 eer 1o gmmm)io \{ﬁrdsqu adt awoﬁﬂmdaglq movio fE]
oft briq . unob@nsllsmqkl asmss] 2ansbutz sovds

A s z §—= i J? Sﬁ}%e_gég S 141. R0~ hagimag SR R BB

. A
( ) 2 ( ) 2 l y [ATAR
@) 15 @)15. B @ 1
142.  What is the name of the simple closed curve.made 142. THIe our ¥ST &'% g3t AU9S §v =99 & ot
up of only line segments called? e IS ?
()  Simplecurve (2)  Polygon (1) FU9s =& 2 @A
(3) Closedcurve (4)  Plane curve 3) &e=ag 4) 3B TFT
- 143, Which type of polygons have no portions of their 143 g gggHr v fedast @ 9 & gvar grodt
, diagonals in their exteriors? fon e sat gur w gggA g atafge as?
(1)  Concave polygon ‘ (1) MIIBEIIA
(2  Convexpolygon @ ImggsH
(3)  Regularpolygon (3) FAHEIIH
- (9 Hexagon : (4 gFgA
144. Ifanumber is 64 times the reciprocal of its square. 144, fiéar fifipur mrUS =agr e T 64 =T I
Find the number? AferT uygT 53
» 10 @ 4 @ 10 @2 4
3 2 : @ 16 3 2 @ 16
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145.

146.

147.

148.

149.

150.

151.

152.

153.

Find the smallest perfect square which is divisible 145.
by 4, 9 and 10 each?
1 800 (2) 400
3) 900 4 500
Find the smallest number by which 192 be divided = 146.
to make it a perfect cube.
n 2 @ 3
@ 5 @ 6
I£75% of a number is added to 75 then same number ~ 147.
is obtained as a result. Find the number.
IHn 50 2 60
3 300 4 400
If area of a square is same as area of a circle then 148.
what will be the ratio of lengths of side of a square
and radius of a circle?
M Jr:1 @ Jr:2
@A) 1:x @ r:l
If both X and Y are in direct proportion then 149.
1 1
— and—
¥y are.......
1) in direct proportior
2 in inverse proportion
3) neither in direct nor in inverse
) some time in direct and sometime in inverse
Which of the following number will be divide the 150-
sum of all possible numbers formed by three
different digits.
) 31 2 29
3 19 4 37
Where is the ‘Silicon Valley’ situated? 151
€)) Paris (2)  California
?3) Tokyo (4) London
Of what the Arabica, Robusta and Liberica are 152
types : ’
€)) Apple 2) Coffee
3 Honey @) Plum
Which city of the U.S.A. is also known as ‘Motor 153,
city’? : ‘
) Columbia 2 Washington
3 Detroit (49  Newyork
23

Ag J 2t =T At ysT A9 7 fa 4, 9 M3
10 9T &8 EF AT AA|

(1) 800 (2) 400

3) 900 @ 50 .
6w 79 T &2 ffprr u3T 99 AR 5% 192 &
&3e I IORS fea yas W sE A< |

“o» 2 @ 3

3 5 @ 6

Taq fan f#ftr @ 75%, 75 &9 Afgnr 72 3t
st fed Ot fftonr yruz gt § Afterr usT FT |

(1 50 2 60
3) 300 4 400
Had =997 T §39EH Yad & U3deB §IHd J 3T

a1 ©f FAT M Ydd © My fen™ e vigus
atgsar?

A Jr:1 @ Jr:2

3) 1:V7 @ r:1
fag X M3 Y AT ufgeeas fev d= 3IF

1 1 . o
}’H@'-Y— ......... feg g=an:

(1) fAgr ufe=ass

@) 1 9%<e ufgeazs

@) | 3 fior &7 @®e ufsgeass

(4) &= At figr @3 et €8T
35 33 39T et § § § 9 IS TEAT
&% I JET I ?

1 31 @ 29

@3 19 @ 37
frstas et fag a?

(1)  Ufew (2) aEIstHT
(3) &€ - @4 &35

wiafaar, Faner wmI Frfedfaar faw dhmt famit
I5?

(1) Ay (2) det

@) Hfee (4) g gy
g . ¢ faud Aigg § Hea rfsg & 39 3 <t
Afenr Ater 37
(1) IS
(3) 3<dtme

| @ < fhges
4 fsGwaa
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154.

155.

156.

157.

158.

159.

160.

161.

162.

The countries with which type of climate are suitable
for rice cultivation?

1) HotandHumid (2)  Hot and Dry
(3 ColdandDry (4)  VeryCold

In which country the world famous ‘Corn Belt’ is
situated?

) India (2) Canada
3 Nigeria 4 USA

In how many types the cotton is classified on the
basis of fibre?

€)) Two 2)
3) Four €3]

Three

Five

Which of Indian states are famous for tea
cultivation?

(1)  Rajasthan, Gujarat and Maharashtra

2 Punjab, Haryana and Uttar Pradesh
3) Assam, West bengal and Tamil Nadu -
4 Rajasthan, Bihar and Haryana

Which soil type has the lowest capacity of water
retention?

€)) Black soil 2)
3) Alluvialsoil ~  (4)

- Clayeysoil

Desert soil

Which of the following is not a metallic mineral?
(1 Copper 2) Iron

3) Silver 4)  Coal

What is the area of india is square kilometers?
(1) 32,87,782 2) 87,32,782

(3) 42,87,782 4 97,32,782

Which of the following is considered as the best

quality coal?
) Anthracite (2)  Bituminus
(3)  Lignite (4)  Peat

The Modern era in Indian began with the death of
which Mughal emperor?

(2) Babar
Shah Jahan

€)) Aurangzeb
(3)  Akbar 4

24

154.

155.

156.

157.

158..

159.

160.

161.

162.

I8, iU 39 3 faT fAd Ay =8 o féw
ger Jt3r Arer § 7

(1) JIEHIT 3T (2) JIHI YR
(@) dFIwmm (4 =gz s
g yfifa ‘Fas U faoS e &g 57
(n a3 2) & ST

3) 4)
9793 ¥ fa0d 37 99 U I95 Bet yfitg 95 7
() TARES, IATS M3 HITaHeT |

2 UFe, gferer w3 Qe yen
(3) A, T3t fers w3 Ifimst |
(4) TJAHES faarg W3 gfenrer)

USt § et Sy <t midar faoat firdt fea rg
FWeT?

(1) wstfiret (2) dastfiet
(3) TYTBIHSE (4) vaEstfiret
J5 et few fagsr org ufew yvewg 5at 3¢

=

(1) Iigr 2) &
3) gfet 4) g
993 T 4I9eH a8 Sqarfadtea T?
(1) 32,87,782 (2) 87,32,782
(3)  42,87,782 4  97,32,782

95 fafpnt &9 rg 3 et famer g fagar 32

(1) wEIATEre 2 faaitsw

3) feasee 4 e

93 &9 mrufsa I e Mgg fan vaw
IR € NI 3 9w Jfemr ?

(1) mIImE 2 g =g

3) mIEd (4) HIHIT
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163.

164.

165.

166.

167.

168.

169.

170.

171.

When did the battle of Buxar was fought?

) 1757 AD (2) 1764AD

)] 1857 AD (4) 1864AD
According to which Act, the Governor General of
Bengal and the Council have been given the name
of Governor General of India and the Council? What
is the name of the Act ?

(1) Charter Act 1813

) Charter Act 1833

3 Charter Act 1821

4 Pitts India Act

When did Hunter Commission Established?

1) 1813 AD (2 1882AD

3) 1883 AD 4 1812AD

Name the first Martyr of the revolt of 1857 AD
1) Mangal Pandey (2) Nana Sahib

3) Rani Lakshmi Bai (4) Tantia Tope
Which city was made capital by Britishers in 1911
AD?

€)) Calcutta (2)  Delhi

3) Mumbai (4)  Best Bengal
From 1746 AD to 1763 AD, which,battles were
won by the Britishers that'paved the way of India
for them?

) Battle of Mysore

2 Battle of Panipat

3) Battle of Karnataka

“) Battle of Bauxer

The period when Mughal emperors like Babur,
Humayun and Akbar ruled over India is known as
) Medieval period

2 Modern period

3) Ancient period

4) The golden period

Which was the first English Fort in India?

1) Fort St. George

2) Fort Thomas

3 Fort Presidency

@) FortKelly

When and where did the Swadeshi and Baycott
Movement begin?

1) 1904,Punjab  (2) 1905, Bengal

3 1905,Punjab  (4) 1904, Bengal

163.

164.

165.

166.

167.

168.

169.

170.

171.

gaHg o BJEt g JE?

(1) 1757%€% (2) 1764 7%t

(3) 1857%€r. (4) 1864F%.
formr e WITE §9TE € dEd6d AGIS WS
m§mwmmn@mw
=t & fagr fapur | fem Hae €F s &t At ?

(1) §9ed #Hae 1813

(2) 9IeT AT 1833

(3) §9eT Mae 1821

4 fuen feshrr wae _

o3 SfHAS T RETUET g9 JE ?

(1) 18138 (2) 1882°%t.

(3) 1883°%h (4) 1812°%h

1857 gt. & fewdg € ufa® mate ev & ot /i ?
(1) FHI® UE () && Afad
() TSt Bt 5TE (4) g U
1911 . feg wedw & faw Afgg § WUt
FATET gaSfer ?

(1) TBA3T 2 fest

(@) bt (@) Uet&Ers

1746 St <3 1763 €. 33 faa3 gu g8, fagt fev

o g 4w fardT ?

(1) ) REI T YT
(2)  uSuz T HU
(3) dd&ed € WU
(4) HIAT YT

animﬂwwfnﬂ@‘m@f?
g, fOHTE WS WiaEd TS YIS FEHTT 5

FHST?

(1) Hoas

2 wufed IH

(¢ yYEEITE

(4) wafaEt I&

393 f=g ufsT wERH! fagT fagar A/t ?
(1) @ICRTHTH

(2) @I EHH

(3) S ywsH

(4) TV

At w3 TetaTe #HEns g€ M3 fad By Ifem ?
(1) 1904, 779 (2 1905, HI®
(3) 1905, iad™ (4) 1904, IS
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172.

173.

174.

175.

176.

177.

178.

179.

180.

Who wrote Anand Math?

€)) Michacle Madhu Sudan Dutt
) Sarat Chander Chatterji

(3  Munshi Prem Chand

(49 Bankim Chander Chatterji

When did India become a fully Sovereign state after
Independence?

(€)) 26 January, 1950

(2)  15August, 1947

()  26January, 1949

(@) 25January, 1949

What kind of committee was formed by Dr. Bhim
Rao Ambedkar on August 29, 19497

(D Seven member drafting committee

2 A member drafting committee
3 Two member drafting committee
() Five Two member drafting committee

Upto which age of children the right to free and
compulsory education was implemented.

€)) 10 Year ) 14 Year

€)) 12 Year (4 _5 Year

What is the Justice that gives equal right to earn a
living and get equal pay?

) Socialjustice ~ (2)
3 Political justice  (4)

Economic Jjustice
Civil justice

What is the name of the highest court of the district
incivil litigation?

[0} Supreme court (2)
(3)  Districtcourt “

High court
Special court

Under which Article which has the Supreme Court
been provided special powers?

(1)  Article134 (2) Article135

@G)  Aticle136  (4)  Article 137

How many members are be elected for the Rajya
Sabha from Punjab?

€)) 11 ‘ 2 13

3) 07 4 02

What will be the maximum number of Lok Sabha
members?

€3] 545 ?)
3 54 @)

552
555
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172.

173.

174.

175.

176.

177.

178.

179.

180.

MEE HE fand fafunr ?
(1)  HEla® Huges §3
(2) HIZ Jug geanrt
(3) veHTUH T

4  &fay gog geant
»m@’r?mma?maufa?msr
1S I/ sfew wit 2

(1) 26 A&=Lt, 1950
(2) 15 7@mI, 1947
(3) 26 A&=d, 1949
(4) 25 Ax=dt, 1949

29»131::31949337 FHEQ virfeas wmar
fam 33 &t aet geret aret 7

(1) A3 Wt HRET aiet

(2) feq iuat witer anret

(3) € WudtHAE aet

4 . U7 HEet Wifer anet

mwmﬂﬁf&wwnﬁwm%
wewwmaﬁ?fawn’r ?

1 10 7® 2 1475

Gh B12FHE 4 -57%
@Ufaaarﬁmrahnmnaaan’r-ww
g9749 & rEdt 8 o wifaarg 37

O™+ e famt (2) mafaa fomt
() THElET fanrt (4)  firew foon
fﬂ%@;ﬂé@ﬁﬁﬁu’rﬁwe’rwa%wa
ot fagr Arer §?

() BudHdee (2) gtage

(3) fagrage (4) FUR® 3

B 992 § feim wfgare fifears &t fa grgr
"Wals YUz g% ?

(1) Ta™-134 (2) UE™-135

(3) uU9T™-136 (4) UET-137

U7me fI9 391 Aa wet 43 e o8 7o 9w 7
1 11 2) 13

3) 07 4 02

BF A9 € Ruat & ¥U I v foedt fa T
AEt 3 ?

(1) 545 (2) 552

(3) 542 (4) 555
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